Positron Fraction Progress

Shaowen Zhang



MCB620

* Use B620 to do the Fit
* Try to change different fit method
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E/|FP| Minuit fit ene 6Y.00U-/4.300

x°=0.1
e Data ifgig=1J_rO,039)
Minuit
— sig tpl (746.2+28.6)
—— bkg1 tpl {(1604.3140.6
—— bkg?2 tpl (37.6+0.0)
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E/|P| Minuit it ene 115.100-132.100
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1=0.1
e Data ifsig=D.9?iO.U49)
Minuit
— sig tpl {474.5+23.9)
—— bkg1 tpl (751.7+28.8)
—— bkg2 tpl {56.8+£0.0)
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E/|P| Minuit it ene 206.000-260.000
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¥2=0.1
e Data ifsig=0,8810,089)
Minuit
— sig tpl (265.2£20.6)
—— bkg1 tpl {443.2£24.3)
— bkg?2 tpl (142.7+0.0)
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E/|P| Minuit it ene 260.000-350.000

¥Z=0.1

o Data(f _-0.94:0.1)

Minuit

— sig tpl (194.2+20.7)
—— bkg1 1pl (686.3+37.4)
— bkg2 tpl (189.5+0.0)
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E/|FP| Minuit 1it ene 390.000-500.000
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x*=0.1
e Data ifgig=1 .840.28)
Minuit
—— sig tpl (163.8426.1)
—— bkg1 tpl {1280.0£49.0
— bkg2 tpl (236.2+0.0)
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Positron Fraction from Log10(E/|P|)-Trdlkhd fit
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Charge confusion of ele from fit and MC
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Try to fit two components in CC

E/|F| Rootit ene 110.100-132.10U
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Ongoing

* Now try to use unbinned fit include two
components

 Use diferent code to check results
« Update MC and check templates



